D1,2,5 10 -4 74
@1,2,3,4,6,12 -6 7}
®1,2,3,4,6,8,12,24 - 8 7}
@1,5,25-> 370
®1,2,13,26 - 4 7Y




@ 46 @)52 3@ 102

@248

®)612

42 YH3Z o roldojR= +5
D46+4=11---2

@52+4=13

®102+4=25---2

@ 248 + 4 = 62

®612+4 =153

ZH
=

ohguct.




® (27, 21)

@ (18, 24)

@ (15, 15)

® (54, 30)

‘ D1520603D123® 6

@ (36, 48)




@ 2 ® 3 @ 6 3)8

D1




5.

3] i 3, 69 i H 4 o AU

B

D 105 @ 992 @ 460 ®)3030 ® 4401
33 62 HAFH4 6
6229302 Lro]golz| B2 39| v Fof| A BE 2ho

Lil=1n =g
D105+6=17---3
@992 +6=165---2
@460 -6 =76---4
@ 3030 + 6 = 505

® 4401 +6=733---3




A e T AQ5E bt 2ol F4A 0.2 LrehRgly .
Al O

=
o ogre 7

0] AL FHSE T 4

A=2X2X3X7T B=2X3X7X7

@® 2x3

@ 2x3x7
@2><3x7x2><7
@ 2x3xXTX2x3%X7

® 2Xx2X2Xx3X3XTXTXT

Aoﬂl‘i g = _]?“'F: X2
BollA = F& 1 x7
HAFT 2x3XxTX2XT




249 329 HAFHSE o] gale] T 49| Fuj4E Foteln
249} 329] B4 2he 4 3 AT 27T FohA L

>

i

96

v V V¥
0x
iy

0
i

192

Pyt

~&B

249} 32 9] X AFui=2l 96 o] B U TH
2) 24 32
2) 12 16
2) 6 8
3 4
2X2X2x3%x4=96
96 2] "l : 96, 192, 288 - --
— 96, 192




& %99 Wj47t obd Ze o AU

O 2385 @ 6678 @ 5004

@®)9181 ® 50688

9] Z} 2t o] s=219] {to] 9 9] vj4rT} opd 5 ZFF U T
®2+3+8+5=18

@6+6+7+8=27

®5+04+0+4=9

@9+1+8+1=19

®5+0+6+8+8=27




15709) A}

g2 9
o] & 4 gl WP 25 9 AU

=5 717

SIS B glo] Ho] vhro] Felw

1

Q.
H

Yk,

450] eF4X=1 3 5 9 15, 452 67fo| B2,

45709) A Ui WhEe 67y,




-1, 3, 17, 51
-1, 2, 3, 4, 5, 6, 10, 12, 15, 20, 30, 60




11 = T S B =
. Ok~ 0 |- A 7] 1 I.E:] EH
T
H)\ o
]_ I ok =]
7 Jr 7 /\__,__E z = 7
]
]_9_
= /J\}\]
_9_

@ 2
4
© 73
© 4
9
@
15

i

iy

0
o

0
i

V
V
\%
vV V¥
0x v
®®®IIE :
@

0
i

B

Q
1
o , 2,3
1 .
o , 13 > e
1, 7 2 o
@1, 3’ 49 —» 37 o
, D, 15—>]ILH
7




12. 150ET} 23 180 Kt} 2F2 4= Fof|A 13 9] w8 W5 AA|Q,

> =
> =
> HE 156
> HED 169

B

13 x 11 = 143, 13 x 12 = 156, 13 x 13 = 169, 13 x 14 = 182,

whabA] 150 2ok 230 180 Bt 28 4 Fofl A
13 9] 5= 156, 169 Yot




13. 729 efpolHA 6 Tz 89 HIRYl o2 BT

W
=
rl
i
N

D

= N

Esl=

72 9] 9k 1 1,2, 3,4, 6,8, 9,12, 18, 24, 36, 72
— 6 9] Hi4= =8 9] v 16, 8, 12, 24, 36, 72
wabA 6 7]yt




14.

45 2} 72 O] FOFF Fo|A EFE L
)

2 2A Q.
> E
> E

0
o
—_

v V.V V¥
0%
i

0
o
©

~&B

45 9] 9%k :1,3,5,9,15,45
729 9F4:1,2,3,4,6,8,9,
452729 FF4:1,3,9

wpbA], 45 oF 72 9] FoFS FollA

£l

12,18,24, 36, 72

Tifol

F=1,3,9 44




SOl 92 tHrofE ol 12 2 WFoldE

15. 1003} 200 Ate] 9] &=
% A5HA L

oAt 8

> E.

m

L

v VvV VvV v V¥
0
it

108
HED 144
e 180

B ‘
99} 12.9] HA-Fu5E 36 Yt
36 Hl5=Foll A 1007 2004F01 9] = 36 x 3 = 108, 36 x4 =
144, 36 x 5 = 180 YUt
— 108, 144, 180




16. o] A2)o] 5471 39 A A 4 FolA 714 2 49] W42 7o}
AlQ.

@302 @301 @)36 @308  © 3

49 B4t B F 2] 471 49 Hjold 1 4
U,
wkebd 7bg 2 AlRel 4 306 YUt

1] wj%

rr




17.

3
:__l‘
%
[o
2
re
4
il
i
4r
32,
ink
L
i
=
R
N
ko
4
—~
N
i
32
i
k]

(60— 4), (88— 4)%= o] H 42 L}iro] Woi|m
Va2 % olnE HThBorrE T,
2) 56 84
2) 28 42
7) 14 21
2 3

whebA] 56 7 84 0] F|FFrE 2 x 2 x 7 = 284U




18. 2, 3, 5, 72 <7H 1 I A7) AL HEol gl =4y 10 oA 20
7HA| 0] A4S Fol| A o] e = FH A Y7}

D

> = M

10 ¥ 20 7HA] 9] A4 F =7 1 3t 247] 24 gl Qe
2L 11, 13, 17, 19 2 4719 Yt}




19. 50914 3007441] 2% FoA4 16.9) w49k 21.9] wh4-2] A%
ok DS

1~ 3007k2]€] 16 9] vij<= : 300 + 16 = 18---2 187}
1 ~ 5072 9] 16 9] v~ : 37

501141 300712 9] 16 2] v — 18 — 3 = 15(7H)

1 ~3007k2]2] 21 9] ¥4= 1 300 + 21 = 14---6 147}
1 ~ 507}2]9] 21 9] vj4= @ 2 7]

50 141 300714 2] 21 2] B4 — 14 — 2 = 12(7H)

— 15-12 = 3(7})




20. oH 42 @2 Py ol 42013, e z|7} 180]9 &L e o]
55 6o thed tulAe Aotz

=
=i

>
I> HMeb:

oH .

~&B

(ol *) =42.--18
o] 22 60& UM D x42& 62 Hlg0] L& L}iro] Hoiz]
37, 18% 69 "ol B2 Y27} 0o] HY T

-0




